2
@ o=y
B.(2) XY= R .
5() Qiff {xcp(m):SD(m) ¢

B, (0) —— Bs(l){y_g( ) e ytay=1

O 4 diff g(0)=1 I
2
. ry €R
B, (0) : L R* BildL < xe® +yed + oy =0 : Tan-Vec OL_
+diff Kurve %L =00

f(xy) = a? (1 — a:2) — y?

o B B flxg(x) =0
f<a::y>=0: r#0:+£1 = B€<x>L>R2 (_ <>_>
heg +diff g (cv) =Y
f (z:y) = e¥/* nach y loc auflosbar
; L (es@) /s — cu/a
7. €ERAR = B, (55) 9 R N ODE for loc Aufl g
hog +diff g ( ) =y

g (E) explizite Formel/SIF /differentiate f (z:g (z)) =0

 LeR" OEUC.R (% =0

et 1 rRe =

surface a:,.' =0 R diff R /\ vq 7& 0 /\ \/ U % S /\ rk Y
Tz €S o€ S diff yeuU

implicit diff

d
1+ logE = ye¥r = el impl diff
Y dx



